test statistic

46.2

32.8

CAAAGGGGCTCCCCCCCCCGGTTTTTTTTAAAAAAACTTTTTTTAAAC

O -1 N MWL OM~MNODOO A NMTJITUOLO~MNOOOO A ANMTL OO A NMSTL O© N~
N AN AN NANANNNNANOOOOOOOOOOOOSS I I IS

cCA

AG
o <<
O O

67CD

CC

>584
)87 ()
() 88 4
96 =

>60—1

C_I_C
— AN ™M
N~ N~ N
0T =

() 82 —
— 83 ()
O 84 G)
—] 385 (§)
<4 89 ()
— 90 ()
)91 0

G) 92 ()

) 80 )

() 86 ()

() 95 )
- —

() 98 4

4 99 ()
X 100 -

0O 81 -

TNOTOLO~NO0OO Jdaddd A A A A A

T ARSI T O AN A G H0G600S6G AT G

T+
G*

— 78 >
— 79 (4)
() 94
> 97 -

() 93 -

G) 55 —
G) 76 P



0.564

— e =

A\ I
o AT A A < —
E==——= = = S o al N ——

sug

O - N
ANMmMTOWON~NO0OO g0 Y%






U 00T =1
X 66 [

46.2

<0
O~
OF

O
St
¢

A CQECQQQQCCCC TTTTTTTTIAAAAA

AAAR

o
(O] Jgpr

A NM T IO O™~ 0

211S11e1S 1S9)

K-

~C

0
O<C
O <
T
10
)<

(—
—
{—
ad

q

A

<
<
<
e
=
<L
F<C

<
-
T
-
Ia
_|

-

80.3



